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4- , g) → f6=

÷ ÷
,

→ ↓ ,=fg✓T3, 12=12-1-513) → Dip,B=Y¥

45
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if ☐( Eee), Kobe Dee, 6) → lim D. ( lies
,
Eloi)=o →

h→y

him Ence) = se where he is
'

independentf the initial state.
n → a

Note that 9C cannot be 0
,
due to the trace -preserving condition.

So - Ecx) = him E
""

(e) = a → Eca)-?⃝
n→• % 1 .

3

Let p* be aprojector which satisfies the following :

DLEiebkoD-TLP-%Ecei-ecoif.DIEcp.am) = Tr { P*( x-p) ( Ete )-EEodjf-d-p-rltfeie.DE
d-p Dfécei, e'cop ≤ x-p Die, 6). → for p ≠. ]

%" DLees.ewjetdce.org '%÷Hµ%i.
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Example. let 8=21 and f- d-p¥+p 14×41 4

I fʳ=t Ip
"

=T-pi{- + pop) /4×41+1514×41}=
1.

, yup, , p , ,,,, , guy,, , , , , , , , , , , ,,

&

i.%4F.fi#.p-p'-toe-H--.IpipJ?sJ:Ki-i--.kHi&:#
f-P'=

t.IQ.xl.li?bilQ.XQ.Ixo--o:q#ii14.xe.l--d-.bE:0.v-rg-' ji!
:#⇐ ① '

% : ?

Trl ELP- f
'

)) = T( level [ He.×Ei- . -7)=L

# ◦≠I(E(e-e) j%%%E÷%¥H

Vahid Karimipour
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Eciexei ) = c-pie ✗ el +¥ :i%&iµjÉs
EC 14×411 = C-B 14×41 -1¥

.ÉiÉ-7=1
.

-4¥
B = { 1%117 , Ii > i--2,3 . - - d- I}

T.iq# { Ian>} id.> 147,19>1%1.0%4

ñW¥.is?-iid&liD , c.
&

'
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a 147
\

If> = Cso ID -1%011>

-0 > 14>
I 4) = Pino Is>+ Go 11>
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2414> = 28in0 GO ⇒ Pin 20 .
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8=8 :O

, C- Gso :#Xp:#0¥
Let 9=14×41 • 8=14×41

I

→9--14×4 / =
C
'
CS

CS sz / + %
=

%

0
To d-2

52 CS

6--14×41 = * Oder =
°

Cs E
Od

- r

F.

.-24×17%4 G. , I ¥!
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d-p)fgp¥ I
→ Eco - C- p)f+ PIT = =

pId÷
PIF

→ E = a-µ6*p¥ =
d-PEPI g

=

1-Tdr
PIF
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:
_ %§⇔? → Felps.# = 12414>1--8.20 .

%.dz#HF:-Fcp,o)--Tr/re-6T ] /

i é ⇔;ÉÉ%÷
p=

F- Td,
◦ =

f- Idi

Fees)=T✓✓Jo = T.EE#Pj-Jd-r
= Tr

Ñ°Ñ
= Tr /⑤ EVE + 1-4-23

Id-2

Lot A=✓FÉ✓F from the identity criers? www.T

→ ⇐ ✓A-[ = TA +2@→ TTA __ ✓TAIFA -

'

→ t.FI#-r(poTF--- * *

from ④ - Tcf E) = d-pitch ? ) + pcj-P-HP.tt?)+Fd2-
✓

Note : f- = C-D)8-11-12 = 4-pitch?) + 2Pg + P'÷
8=4 -p)6o+ In
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- Trip 8) = x-p 12414712-1 2%-1+2,1-1 ***

defy = old.
⇔ ⇔

,#
'

c-PICS C-pÑ+Pz

= d-d-PIP +1¥ = It 8

⇔⇔&⇔É

** se *** -

f-( pis) = ( 1-pilaf/4712-1 2%-1+2,1-1 + 214T¥ + P÷ ]
I

-⇐It!

- T.ie
,
:o) = ↓ A-pit-ie.is + 4Pj +9¥

I

' Ii,
Fcp, 6) = Fcé, 5)+ Icd-D=



Fees) =↓ A-pit-ie.is + ʰPj +4¥ + P-acd-D.io#.?

A few tests to this solution :

i if p=o → Eve have the identity channel- T-cp.oj-T-ce.us .

@ if p=1 - " " feed -_¥ Hp - Fcp, 6) = Id + fed-7=1 , as

it should be since the output is always the same .

3 f 4--4 → Fcp, =

ftp.i-4PY-I-Y#-+Pzcd-D=J(-p-2dP-)=-dP-cd-2)--i-pi-2dP-+P-28=1 ,

as it should be, since the two find stats are the same.

Dld.4)=tgTr / 14×41-14×411 :*:* ni ⇐I

= tgtr
£-5 °

= E-8=60-9:O = G20

◦ 5-i

→ Dalit)= ✓ 1-4414>12



:f-wo*xi
Dcp, 6) = f- Tr C -p)f+¥ - x-p> 6-÷ =

= 4- p) f- I / for / = x-p Ditto].

Vahid Karimipour
۲۰ نمره
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